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QUESTION 1 (20 marks)

ek ) “The figure below shows an isometric block. Using the views shown for the front, end
. and plan, draw the views in the third angle projection (6 marks).

. PLAN

ALL DIMENSIONS IN MM
@0

b) A square prism 30mm base sides and 70mm axis is completely penetrated by another
-.square prism of 25mm sides and 70mm axis, horizontally. Both axes intersect and
bisect each other. All the faces of the prisms are equally inclined to the VP. Draw
projections showing curves of intersections (8 marks)
c¢) -Develop the surfaces of a) a cube of 1 inch and b) a triangular prism of base 1 inch
~_ “and longer side 3 inch (6 marks)

QUESTION 2 (10 marks)

a) To a scale of 1:10 draw a cross section through an inspection chamber (manhole)
using the following data: Wall thickness 150mm, effective size 750 x 750mm, concrete
base thickness 150mm, masonry wall height 800mm, concrete base size 1200 x

- 1200mm, mild steel cover thickness 30mm, inlet and outlet pipe 100mm diameter at
100mm from the base '
(Assume any other necessary information not given). (10 marks).
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QUESTION 3 (10 marks)

a) A cylinder of 80mm diameter and 100mm axis is completely penetrated by a cone of

80mm diameter and 120mm long axis horizontally. Both axes intersect and bisect each e

other. Draw projections showing curve of intersections (10 marks)

QUESTION 4 (10 marks)

a) A hexagonal prism, edge of base 20 mm and axis 50 mm long, rests with its base on
H.P such that one of its rectangular faces is parallel to V.P. It is cut by a plane
perpendicular to V.P, inclined at 45° to H.P and passing through the right corner of the

(o top face of the prism. Draw the sectional top view and develop the lateral surface of
‘ the truncated prism ,
(10 marks). S -






